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QUESTIONS (15 points)

PART A: For questions 26-35, circle the best answer a-d. (1,5 points each; 15 points)
26. The lecturer gives the example of Barcelona to show ____________.
a. that the locals have been worried about the situation
b. how tolerant local people are with tourists
c. how happy people are with the economic growth

27. The government in Thailand doesn’t allow tourists to visit islands in order to ______________. 
a. lower the tension of the locals 
b. save the environment
c. keep tourists away from attacks
28. According to the lecturer, revenue leakage is the amount of money that ____________.
a. governments collect from international companies 
b. is spent in the tourism sector by international companies
c. is not returned to the locals of a host country in tourism 

29. Which of the following is mentioned as one of the socio-cultural impacts of overtourism?
a. Loss of traditional value systems
b. Growth in criminality and abuse
c. Change in communication patterns

30. What is the lecturer’s opinion about eco-tourism as a solution?
a. He feels that eco-tourism is not a very effective solution.
b. He feels neutral about eco-tourism as a solution to overtourism.
c. He believes the impacts of eco-tourism is not understood.

31. The reason why eco-tourism is mainly small scale is that ____________.
a. there are not many people interested in eco-tourism
b. most undisturbed areas are protected by law
c. there are very few undisturbed places left in the world



32. Which of the following does Robert Prosser mention as the reason for sustainable tourism?
a. Growth in the number of tour operators
b. Increase in environmental and cultural awareness
c. Need for interaction between tourists and locals

33. The results of the survey after the tourist management system revealed that the tourists ____.
a. spent less time in the city
b. expressed more satisfaction 
c. became more critical 


34. The lecturer uses the example of golf resorts in Cyprus to show ____________.
a. that some areas should not be used for tourism purposes
b. that sustainability does not help the tourism industry
c. how water resources could be saved

35. The lecture is mainly about ____________.
a. the conditions of locals in overcrowded touristic places
b. why alternative tourism does not work in today’s world
c. overtourism and how to resolve problems about it
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